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Type-I

1. 8% of 5 litre is :

5 yhVj dk 8» gS %
SSC CPO 15 March 2019 (Morning)

(a) 0.4 ml (b) 400 ml

(c) 40 ml (d) 4 ml

2. 2.4 converted to percentage is :

2-4 dks izfr'kr esa cnyus ij D;k vk,xk\
SSC CPO 16 March 2019 (Afternoon)

(a) 0.24% (b) 24%

(c) 240% (d) 2.4%

3. What is 34% of 1.2 kilometers ?

1-2 fdyksehVj dk 34» D;k gS\
SSC CPO 15 March 2019 (Evening)

(a) 40,800 cm (b) 4.08,000 cm

(c) 4,080 cm (d) 408 cm

4. What is the difference between 0.9 and
0.9%?

0-9 vkSj 0-9» ds chp D;k varj gS\
SSC MTS 13 August 2019 (Evening)

(a) 0.981 (b) 0.891

(c) 0.198 (d) 8.91

5. There are 780 bananas in a box out of
which 130 bananas are rotten and the
remaining ones are of good quality. The
percentage (upto two decimal places) of
good quality bananas is :

fdlh cDls esa 780 dsys gSa ftuesa ls 130 dsys lM+s gq,
gSa vkSj 'ks"k vPNh xq.koÙkk okys gSaA vPNh xq.koÙkk
okys dsyksa dk izfr'kr (n'keyo ds nks LFkku rd) gS %

SSC MTS 21 August 2019 (Morning)

(a) 71.12% (b) 63.35%

(c) 83.33% (d) 53.33%

6. If 20% of a = b, then b% of 20 is equal to :

;fn a dk 20% = b gS] rks b dk 20% fdlds
cjkcj gksxk\

SSC CPO 16 March 2019 (EVening)

(a) 4% of a (b) 16% of a

(c) 8% of a (d) 2% of a

7. If 49% of X = Y, then Y% of 50 is :

;fn X dk 49% = Y gS] rks 50 dk Y% Kkr djsaA

CPO 2019 24/211/2020 (Evening)

(a) 24.5% of X (b) 24.5% of Y

(c) 40% of Y (d) 50% of X

8. 26% of A is 832. What is 31% of A?

A dk 26% = 832 gSA A ds 31% dk eku fdruk
gS\

SSC MTS 6 August 2019 (Afternoon)

(a) 968 (b) 876

(c) 854 (d) 992

9. If 40% of x equal 50% of y, then y : x is

;fn x dk 40%, y dk 50% ds cjkcj gS] rks y : x gS %
SSC MTS 9 August 2019 (Afternoon)

(a) 4 : 5 (b) 3 : 2

(c) 2 : 3 (d) 5 : 4

10. 0.15% of 
1

33 %
3

 of 180000 = ?

180000 ds 
1

33 %
3

 dk 0-15» Kkr djsaA

SSC MTS 9 August 2019 (Evening)

(a) 9 (b) 90

(c) 150 (d) 900

11. 3 cm is how much percent of 12 m?

12 ehVj dk 3 lseh fdruk izfr'kr gS\
SSC CPO 14 March 2019 (Evening)

(a) 0.025 (b) 0.25

(c) 2.5 (d) 25

12. Rita's income is 15% less than Richa's
income. By what percent is Richa's income
more than Rita's income?

jhrk dh vk; Ípk dh vk; ls 15» de gSA Ípk dh
vk;] jhrk dh vk; ls fdrus izfr'kr vf/d gS\

CHSL 15/10/2020 (Evening)

(a)
11

15 %
17

(b)
11

17 %
17

(c)
11

16 %
17

(d)
11

14 %
17

13. A person's salary increased from ` 8,100 to
` 9,000. What is the percentage increase
in his salary?

,d O;fDr dk osru ` 8]100 ls c<+dj ` 9]000 gks
x;kA mlds osru esa izfr'kr o`f¼ D;k gS\

CPO 2019 23/11/2020 (Evening)

PERCENTAGE (izfr'krrk)
(CLASSROOM SHEET–2)
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(a)
1

11 %
9

(b)
7

13 %
9

(c)
1

9 %
9

(d)
1

6 %
9

14. What percentage of the numbers from 101
to 1000 have 9 in the unit's digit?

101 ls 1000 rd fdrus izfr'kr la[;kvksa esa bdkbZ vad
9 gS\

CHSL 19/10/2020 (Morning)

(a) 10% (b) 12%

(c) 20% (d) 15%

Type-II

15. A number is 50% less than X and another
number is 20% less than X. What is the
ratio of both numbers?

dksbZ la[;k X ls 50% de gS vkSj vU; la[;k X ls
20% de gSA nksuksa la[;kvksa dk vuqikr fdruk gS\

SSC MTS 14 August 2019 (Morning)

(a) 5 : 8 (b) 2 : 3

(c) 3 : 8 (d) 3 : 5

16. 75% of 260 + 30% of 320 = ?

260 dk 75% + 320 dk 30% = ?

SSC MTS 14 August 2019 (Evening)

(a) 301 (b) 271

(c) 281 (d) 291

17. If 25% of 400 + 35% of 1260 + 27% of 1800
= 1020 + x, then the value of x lies between:

;fn 400 dk 25% + 1260 dk 35% + 1800 dk
27% = 1020 + x gS] rks x dk eku fdlds chp gksxk\

CPO 2019 23/11/2020 (Evening)

(a) 16 to 20 (b) 6 to 10

(c) 11 to 15 (d) 0 to 5

18. If 80% of X is 36 more than 60% of Y and
120% of X is equal to Y, then the
difference between X and Y is :

;fn X dk 80% Y ds 60% ls 36 vf/d gS vkSj
X dk 120% Y ds cjkcj gS] rks X vkSj Y ds chp
varj Kkr djsaA

SSC MTS 13 August 2019 (Afternoon)

(a) 80 (b) 100

(c) 90 (d) 60

19. If 40% of a number is less than its 60% by
30, then the 20% of that number is :

;fn fdlh la[;k dk 40% mlds 60% ls 30 de gS]
rks ml la[;k dk 20% gS %

SSC CHSL 13/10/2020 (Evening)

(a) 60 (b) 40

(c) 50 (d) 30

20. If a% of 240 is c% of a is 117.6, then the
value of a + c is :

;fn 240 dk a%, a dk c% gS] rks a + c dk eku gS %
SSC CHSL 18/03/2020 (Morning)

(a) 238 (b) 144

(c) 260 (d) 196

21. If x% of y is 150 and y% of z is 300, then
then the relation between x and z is :

;fn y dk x%150 gS vkSj z dk y% 300 gS] rks x
vkSj z esa D;k laca/ gS\

SSC CHSL 5 July 2019 (Evening)

(a) z = x (b) =
3

x
z

(c)
x

z =
2

(d) z = 2x

22. Find x, if 30% of 400 + x% of 70 = 25% of
536.

x Kkr dhft, ;fn 400 dk 30% + 70 dk x% =

536 dk 25% gSA
SSC CHSL 18/03/2020 (Afternoon)

(a) 20 (b) 30

(c) 10 (d) 40

23. What is to be added to 15% of 180 so that
the sim is equal to 20% of 360?

180 ds 15» esa D;k tksM+k tkuk pkfg, rkfd ;ksx
360 ds 20» ds cjkcj gks\

SSC CGL 2019 Tier-II (18/11/2020)

(a) 40 (b) 60

(c) 50 (d) 45

24. If 25%  of half of x is equal to 2.5 times
the value of 30% of one-fourth of y, then
x is what percent more or less than y?

;fn x ds vk/s dk 25»] y ds ,d&pkSFkkbZ ds 30»
eku ds 2-5 xquk ds cjkcj gS] rks x, y ls fdruk
izfr'kr vfèkd ;k de gS\

CGL Tier-II (13 September 2019)

(a)
1

33 %
3

 more (b) 50% more

(c)
1

33 %
3

 less (d) 50% less

25. If decreasing 120 by x% gives the same
result as increasing 40 by x% then x% of
210 is what percent less than (x + 20)% of
180 ?

;fn 120 dks x% de djus ls ogh ifj.kke vkrk gS
tks 40 dks x% c<+kus ls vkrk gS] rks 210 dk x%

180 ds (x + 20)% ls fdruk izfr'kr de gS\
SSC CGL 4 June 2019 (Morning)
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(a)
1

33
3

(b) 18

(c)
2

16
3

(d) 20

26. If (x + 10)% of 200 is 
1

33 %
3

 more than x%

of 180, then10% of (x + 20) is what percent
less than 40% of x.

;fn 200 dk (x + 10)% 180 ds x% ls 
1

33 %
3

vfèkd gS] rks (x + 20) dk 10%, x ds 40% ls
fdruk izfr'kr de gS\

SSC MTS 22 August 2019 (Evening)

(a) 55 (b) 60

(c) 70 (d) 65

27. If (x + 20)% of 250 is 25% more than x%
of 220 then 10% of (x + 50) is what percent
less than 15% of x ?

;fn 250 dk (x + 20)%, 220 ds x% ls 25%

vfèkd gS rks  (x + 50) dk 10%, x  ds 15% ls fdruk
izfr'kr de gS\

CGL 2019 Tier-II (15/11/2020)

(a)
1

13
3

(b)
1

8
3

(c)
2

16
3

(d)
1

33
3

28. If decreasing 110 by x% gives the same
result as increasing 50 by x%, then x% of
650 is what percentage (correct to the

nearest integer) more than  (x – 10)% of
780?

;fn 110 dks x% ls ?kVkus ij 50 dks x% c<+kus ds
leku ifj.kke feyrk gS] rks 650 dks x% 780 ds (x –

10)% ls fdruk izfr'kr vfèkd (fudVre iw.kkZad rd
lgh) gS\

SSC CPO 2019, 25/11/2020 (Morning)

(a) 14% (b) 12%

(c) 17% (d) 18%

Type-III

29. Nidhi received 74 marks in Mathematics,
62 in English and 70 in Science. What
should be her score in social science so
that he gets a total of 68%.

fuf/ us xf.kr esa 74] vaxzsth esa 62] foKku esa 70
vad izkIr fd;sA lkekftd foKku esa mldk Ldksj D;k
gksuk pkfg, rkfd mls dqy 68» izkIr gks\

SSC CPO 14 March 2019 (Evening)

(a) 67 (b) 65

(c) 66 (d) 68

30. Kavita's attendance in her school for the
academic session 2018-19 was 216 days.
On computing her attendance, it was
observed that her attendance was 90%. The
total working days of the school were :

'kS{kf.kd l=k 2018&19 esa dfork ds fo|ky; esa mldh
mifLFkfr 216 fnu FkhA mldh mifLFkfr dh x.kuk esa
;g ik;k x;k fd mldh mifLFkfr 90» FkhA fo|ky;
ds dqy dk;Z fnolksa dh x.kuk dhft,A

SSC CHSL 12/10/2020 (Morning)

(a) 250 (b) 194

(c) 240 (d) 195

31. Sachin scored 120 runs, which included 6
boundaries and 4 sixes. What percentage
of his total score did he make by running
between the wickets?

lfpu us 120 ju cuk,] ftlesa 6 pkSds  vkSj 4 NDds
'kkfey FksA mlds dqy juksa dk fdruk izfr'kr fodsVksa
ds chp esa nkSM+dj vk;k gS\

SSC CHSL 14/10/2020 (Evening)

(a)
4

46 %
9

(b)
1

33 %
3

(c) 60% (d) 45%

32. A student multiplied a number with 
3

4

instead of 
4

3
. What is the error percentage?

,d Nk=k us 43 dh ctk; 
3

4
 ds ctk; 

4

3
 ds lkFk

,d la[;k dks xquk fd;kA =kqfV izfr'kr D;k gS\
SSC CHSL 13/10/2020 (Morning)

(a) 59.67% (b) 43.75%

(c) 67.45% (d) 39.34%

33. The income of Renu is 10% less than the
income of Sudha, and the income of sudha
is 10% more than ̀  3000. The income of Renu
is

js.kq dh vk; lq/k dh vk; ls 10» de gS vkSj lq/k
dh vk; ` 3000 ls 10» vf/d gSA js.kq dh vk; gS %

SSC CHSL 26/10/2020 (Afternoon)

(a) 3300 (b) 3070

(c) 2700 (d) 2970

34. Anuja owns 
2

66 %
3

 of a property. If 30%

of the property that she owns is worth
` 1,25,000 then 45% of the value (in `) of
the property is :
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vuqtk ds ikl laifÙk dk 
2

66 %
3

 fgLlk gSA ;fn mldh

30» laifÙk dh dher ` 1]25]000 gS] rks mldh 45»
laifÙk dh dher ( ` esa) fdruh gksxh\

SSC CHSL 13/10/2020 (Morning)

(a) ` 2,70,000

(b) ` 2,62,500

(c) ` 2,81,250

(d) ` 2,25,000

35. The sum of weight of A and B is 80 kg. 50%

of A's weight is 
5

6
 times the weight of B.

Find the difference between their weights.

A vkSj B ds otu dk ;ksx 80 fdxzk- gSA A ds otu

dk 50%, B ds otu dk 
5

6
 xquk gSA muds otu ds

chp dk varj Kkr djsaA
SSC CHSL 13/10/2020 (Morning)

(a) 20 kg (b) 10 kg

(c) 25 kg (d) 15 kg

36. If the numerator of a fraction is increased
by 60% and the denominator is increased

by 40%, then the resultant fraction is 
16

63
.

The original fraction is :

;fn fdlh fHkÂ dk va'k 60» c<+ tkrk gS vkSj gj

40» c<+ tkrk gS] rks ifj.kkeh fHkÂ 
16

63
 gksrk gSA ewy

fHkÂ D;k gS\
SSC CHSL 13/10/2020 (Morning)

(a)
5

9
(b)

2

11

(c)
4

9
(d)

2

9

37. Two students A and B appeared for an
examination. A secured 8 marks more than
B and the marks of the former was 55% of
the sum of their marks. The marks
obtained by A and B respectively are :

nks Nk=k A vkSj B ,d ijh{kk esa 'kkfey gq,A A dks
B ls 8 vad vf/d feys vkSj A dks feys vad muds
vadksa ds tksM+ dk 55» FksA A vkSj B }kjk izkIr fd;s
x, vad (Øe'k%) Kkr djsaA

SSC CHSL 5 July 2019 (Evening)

(a) 44, 36 (b) 36, 28

(c) 38, 30 (d) 40, 32

38. In an examination, there are 800 boys and
600 girls. 40% boys and 60% girls passed
the examination. The percentage (correct
to two decimal places) of failed students
from the total students is :

,d ijh{kk esa 800 yM+ds vkSj 600 yM+fd;k¡ gSaA 40»
yM+ds vkSj 60» yM+fd;k¡ us ijh{kk ikl fd;kA dqy
Nk=kksa esa vliQy Nk=kksa dk izfr'kr (nks n'keyo LFkku
rd) Kkr djsaA

SSC MTS 14 August 2019 (Evening)

(a) 52.34% (b) 50.36%

(c) 51.43% (d) 53.57%

39. The income of A is 40% more than that of
B. A got a 25% rise in his income and B
got a 40% raise in his income, then the
percentage increase in the combined
income of A and B is :

A dh vk; B dh vk; ls 40» vf/d gSA A dh
vk; 25» c<+ x;h vkSj B dh vk; 40» c<+ x;h] rks
A vkSj B dh la;qDr vk; esa izfr'kr o`f¼ Kkr djsasA

SSC CGL 10 June 2019 (Morning)

(a) 31.25 (b) 34.5

(c) 28.25 (d) 24.5

40. Rahul's salary is 40% less than Rakesh's
salary. Deepak's salary is 80% more than
Rahul's salary. If Deepak's salary is
` 34560, then what is the salary of Rakesh?

jkgqy dk osru jkds'k ds osru ls 40» de gSA nhid
dk osru jkgqy ds osru ls 80» vf/d gSA ;fn nhid
dk osru ` 34560 gS] rks jkds'k dk osru Kkr djsaA

SSC MTS 8 Ausust 2010 (Evening)

(a) ` 32000 (b) ` 24000

(c) ` 28000 (d) ` 26000

Type-IV

41. If 85% of a number is added to 75, then
the result is the number itself. The number is

;fn fdlh la[;k ds 85» dks 75 esa tksM+k tk,] rks
ifj.kkeLo:i og la[;k Lo;a izkIr gksrh gSA og la[;k
gS %

SSC CGL 13 June 2019 (Evening)

(a) 500 (b) 200

(c) 300 (d) 100

42. If 60% of a number is 120 more than 20%
of the number, then 28% of the number is

less than 
1

33 %
3

 of the number by :

;fn fdlh la[;k dk 60» ml la[;k ds 20» ls 120

vf/d gS] rks ml la[;k dk 28» ml la[;k ds 
1

33 %
3

ls fdruk de gS\

SSC CGL Tier-II (12 September 2019)

(a) 14 (b) 12

(c) 16 (d) 15
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43. If the difference between 62% and 80% of
a number is 198, then the difference
between 92% and 56% of the number will
be :

;fn ,d la[;k ds 62» vkSj 80» esa 198 dk varj gS
rks ml la[;k ds 92» vkSj 56» esa fdruk varj gksxk\

SSC CGL 3/03/2020 (Evening)

(a) 360 (b) 1100

(c) 396 (d) 3564

44. The difference of two positive numbers is
1020. If 7.6% of the greater number is
12.4% of the smaller number, then the sum
of the two numbers is equal to :

nks /ukRed la[;kvksa dk varj 1020 gSA ;fn cM+h la[;k
dk 7-6» NksVh la[;k dk 112-4» gS] rks nksuksa la[;kvksa
dk ;skx Kkr djsaA

SSC CHSL 20/10/2020 (Morning)

(a) 3250 (b) 4250

(c) 4520 (d) 3520

Type-V

45. A is 20% more then B, which is 25% less
than C. Which of the following is true about
A and C?

A, B ls 20» vf/d gS] tks C ls 25» de gSA A

vkSj C ds ckjs esa fuEu esa ls D;k lgh gS\
SSC MTS 2 August 2019 (Evening)

(a) A = 0.9 C (b) A = 1.1 C

(c) A = 0.95 C (d) A = C

46. A is 20% less than B and C is 30% more
than D. If D is 25% less than A, then which
of the following is true?

A, B 20» de gS vkSj C, D ls 30» vf/d gSA ;fn
D, A ls 25» de gS] rks fuEu esa ls D;k lgh gS\

SSC CGL 7/6/2019 (Morning)

(a) B = 0.39C (b) C = 0.78B

(c) B = 0.78C (d) C = 0.39B

47. A is 20% less than B and C is 20% more
than D. If D is 25% less than A, then which
of the following is true?

A, B ls 20» de gS vkSj C, D ls 20» vf/d gSA
;fn D, A ls 25» de gS] rks fuEu esa ls dkSu lk
lgh gS\

SSC CGL 7/6/2019 (Afternoon)

(a) B = 0.675C (b) C = 0.72B

(c) B = 0.72C (d) C = 0.675B

48. The income of A is 25% more than that of
B and the income of C is 65% less than the
sum of the incomes of A and B. Income of
C is what percent less than the income of
A?

A dh vk; B dh vk; ls 25» vf/d gS vkSj C dh
vk; A vkSj B dh vk; ds ;ksx ls 65» de gSA C

dh vk; A dh vk; ls fdruk izfr'kr de gS\
SSC CGL 4/6/2019 (Evening)

(a) 28 (b) 32

(c) 35 (d) 37

49. If A is 28% more than B and C is 25% less
than the sum of A and B, then by what
percent will C be more than A (correct to
one decimal place) ?

;fn A, B ls 28» vf/d gS vkSj C, A vkSj B ds
;ksx ls 25» de gS] rks C, A ls fdruk izfr'kr (,d
n'keyo LFkku rd lgh) vf/d gksxk\

SSC CGL Tier-II (11 September 2019)

(a) 32.2% (b) 28%

(c) 43% (d) 33.6%

50. A is 25% more than B and B is 40% less
than C. If C is 30% more than D, then by
what percent is A less than D?

A, B ls 25» vf/d gS vkSj B, C ls 40» de gSA
;fn C, D ls 30» vf/d gS] rks A, D ls fdruk izfr'kr
de gS\

SSC CGL Tier-II (12 September 2019)

(a) 1.5 (b) 2.5

(c) 4 (d) 5

51. In an examination. A obtained 10% more
marks than B, B obtained 20% more marks
than C and C obtained 32% less marks that
D. If A obtained 272 more marks than C,
then the marks obtained by B is:

fdlh ijh{kk esa] A us 8 ls 10» vf/d vad gkfly
fd;sA B us C ls 20» vf/d vad çkIr fd;k vkSj C us
D ls 32» de vad çkIr fd;kA ;fn A dks C 272 vad
vf/d feys] rks B ds }kjk çkIr fd;s x, vad Kkr djsaA

SSC CGL Tier - II, 13 September 2019

(a) 850 (b) 816

(c) 1020 (d) 852

52. A is 20% more than B, B is 25% more than

C, C is 60% less than D and D is 20% more
than E. Based on the above information
which of the following is true?

A, B ls 20» vf/d gS] B, C ls 25» vf/d gS] C,

D ls 60» de gS vkSj D, E ls 20» vf/d gSA bl
tkudkjh ds vk/kj ij fuEu esa ls dkSu&lk lgh gS\

SSC CHSL 2 July 2019 (Morning)

(a) D is less 60% than B

(b) E is 28% more than A

(c) A is 40% less than D

(d) C is 24% less than A
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53. A is 25% more than B while B is 20% less
than C and C is 10% more than D. Which
of the following is not true?

A, B ls 25» vf/d gS tcfd B, C ls 20» de gS
vkSj C, D ls 10» vf/d gSA fuEu esa ls dkSu&lk
dFku lgh ugha gS\

SSC MTS 2 August 2019 (Afternoon)

(a) B is 22% less than A

(b) A is 10% more than D

(c) B is 12% less than D

(d) A = C

54. A is 28% more than B and C is 
4

48 %
7

 less

than the sum of A and B. By what percent
is C less than A?

A, B ls 80» vf/d gS vkSj C, A vkSj B ds ;ksx ls
4

48 %
7

 de gSA C, A ls fdruk izfr'kr de gS\

CGL 2019 Tier-II (15/11/2020)

(a) 20 (b) 25

(c) 30 (d) 15

55. If A is 40% less than B and C is 40% of
the sum of A and B, then what percentage
B is greater than C?

;fn A, B ls 40» de gS] C, A vkSj B ds ;ksx dk
40» gS rks B, C ls fdrus izfr'kr vf/d gS\

CGL 2019 Tier-II (16/11/2020)

(a) 60 (b)
1

40 %
8

(c)
1

56 %
4

(d) 36

Type-VI

56. The price of sugar is decreased by 10%. By
what percent can a person increase the
consumption so that there is no change in
the expenditure?

phuh dh dher 10» ls de gks tkrh gSA ,d O;fDr
viuh [kir esa fdrus izfr'kr dh o`f¼ dj ldrk gS
rkfd O;; esa dksbZ ifjorZu uk vk;s\

SSC CPO 12 March 2019 (Evening)

(a)
100

%
11

(b)
109

%
11

(c)
100

%
9

(d) 10%

57. The price of petrol was raised by 15%. By
how much percentage should a motorist
reduce the consumption of petrol so that
the expenditure on it does not increase?

isVªksy dh dher 15» ls c<+ xbZA ,d okgu ekfyd
dks isVªksy dh [kir fdruh de djuh pkfg, rkfd
bl ij fd;s x;s O;; esa òf¼ u gks\

SSC CPO 15 March 2019 (Morning)

(a)
2

%
11

(b) 5
3

%
13

(c) 13
1

%
23

(d) 6
2

%
8

58. When the price of an item was reduced by
25%, then its sale was increased by x%. If
there is an increase of 20% in the receipt

of the revenue, then the value of x will be:

tc ,d oLrq dh dher 25» de dj nh x;h] rks
bldh fcØh x% c<+ xbZA ;fn vk; izkfIr esa 20» dh
o`f¼ gqbZ gS] rks x dk eku D;k gksxk\

SSC CGL Tier-II (11 September 2019)

(a) 50 (b) 60

(c) 45 (d) 75

59. If the price of petrol increases by 19% and
Sunitha intends to spend only an
additional 12% on petrol, by what percent
should she reduce the quantity of petrol
purchased (nearest to an integer) ?

;fn isVªksy dh dher 19» c<+ xbZ gS vkSj lquhrk isVªksy
ij dsoy 12» gh vfrfjDr [kpZ djuk pkgrh gS] rks
mls isVªksy dh [kjhnh xbZ ek=kk dks fdrus izfr'kr ls
de djuk pkfg,\ (fudVre iw.kk±d rd)

SSC CGL Tier-II (11 September 2019)

(a) 7 (b) 6

(c) 5 (d) 8

60. The price of sugar has increased by 18%.
A person wants to increase the expenditure
by 12% only. By what percent, correct to
one decimal place, should he decrease his
consumption?

phuh dh dher 18» c<+ tkrh gSA ,d O;fDr viuk
O;; dsoy 12» c<+kuk pkgrk gSA mls viuh [kir esa
fdrus izfr'kr (,d n'keyo LFkku rd lgh) dh deh
djuh pkfg,\

SSC CGL 10 June 2019 (Evening)

(a) 6% (b) 5.1%

(c) 5.3% (d) 5.6%

61. The price of sugar has increased by 17%.
A person wants to increase his expenditure
by 5% only. By approximately what percent
should he decrease his consumption?

phuh dh dher 17» ls c<+ tkrh gSA ,d O;fDr viuk
O;; dsoy 5» ls c<+kuk pkgrk gSA mls viuh [kir esa
yxyx fdrus izfr'kr dh deh djuh pkfg,\
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SSC CGL 13 June 2019 (Afternoon)

(a) 10.3 (b) 10.7

(c) 10.9 (d) 9.9

62. Basir's working hours per day were
increased by 15% and his wages per hour
were increased by 20%. By how much
percent did his daily earning increase?

clhj ds dk;Z ds nSfud ?kaVs 15» c<+ x, vkSj mldh
etnwjh esa izfr ?kaVs 20» dh o`f¼ gqbZA mldh nSfud
vk; esa fderus izfr'kr dh o`f¼ gqbZ\

CGL Tier-II (13 September, 2019)

(a) 40 (b) 38

(c) 35 (d) 36

63. The price of sugar got raised by 25%. To
maintain the same level of expenses on
sugar, a person reduced the consumption
of sugar by 4% and also increased his
expenditure on sugar by x%. The value of
x is :

phuh dh dher 25» ls c<+ x;h gSA phuh ij leku
Lrj ds O;; dks cuk, j[kus ds fy, ,d O;fDr us
viuh [kir esa 4» dh deh dj yh vkSj phuh ij
viuk O;; Hkh x% ls c<+k fy;kA x dk eku gS %

SSC CHSL 10 July 2019 (Afternoon)

(a) 19.5 (b) 21

(c) 20 (d) 18.75

64. A reduction of 20% in the price of sugar
enables a purchaser to obtain 4 kg more
for ` 160. The original price of sugar per
kg is :

phuh dh dher esa 20» dh deh gksus ij ,d Øsrk
dks ` 160 esa 4 fdyks vf/d phuh feyrh gSA izfr
fdyks phus dk ewy ewY; D;k gS\

SSC CHSL 20/10/2020 (Morning)

(a) 12 (b) 10

(c) 14 (d) 15

Type-VII

65. One year ago the population of a village
was 72,000. Due to migration it decreases
by 8% every year. Find the current
population of the village.

,d lky igys fdlh xk¡o dh vkcknh 72]000 FkhA
izokl ds dkj.k ;g gj lky 8» de gks tkrh gSA
orZeku o"kZ esa bl xk¡o dh vkcknh fdruh gS\

SSC MTS 20 August 2019 (Evening)

(a) 68138

(b) 60940

(c) 66240

(d) 61908

66. A number is first increased by 
2

16 %
3

 and

then decreased by 15% to get 238. What

is 37.5% of that number.

,d la[;k dks igys 
2

16 %
3

 c<+k;k tkrk gS vkSj

fiQj 15» de dj fn;k tkrk gS ftlls 238 izkIr
gksrk gSA bl la[;k dk 37-5» Kkr djsaA

SSC MTS 5 August 2019 (Morning)

(a) 150 (b) 75

(c) 120 (d) 90

67. A number is first decreased by 10% and

then increased by 10%. The number so

obtained is 100 less than the original

number. The original number is :

fdlh la[;k esa igys 10» dh deh rFkk fiQj 10» dh
òf¼ dh tkrh gSA bl izdkj izkIr la[;k okLrfod la[;k
ls 100 de gSA okLrfod la[;k Kkr djsaA

SSC CPO 15 March 2019 (Evening)

(a) 100000 (b) 100

(c) 1000 (d) 10000

68. The price of a machine got depreciated by

50% in the 1st year, 
1

33 %
3

 in the 2nd year

and 25% in the 3rd year. Overall, by how

much has the machine depreciated?

,d e'khu dh dher igys o"kZ 50»] nwljs o"kZ
1

33 %
3

 vkSj rhljs o"kZ 25» de gks xbZA dqy feykdj

e'khu dh dher esa fdrus deh vk;h\
SSC MTS 14 August 2019 (Afternoon)

(a)
2

66 %
3

(b) 80%

(c) 75% (d) 50%

69. A number is first increased by 40% and

then  decreased by 25%, again increased

by 15% and then decreased by 20%. What

is the net increase decrease per cent in the

number?

,d la[;k esa igys 40» dh o`f¼ gqbZ gS vkSj fiQj
25»  dh deh gqbZ] fiQj ls 15» dh o`f¼ gqbZ vkSj
fiQj 20» dh deh gqbZA la[;k esa dqy o`f¼ ;k deh
ds izfr'kr dks Kkr djsaA

SSC CPO 2019 24/11/2020 (Evening)

(a) 7.2% increase

(b) 3.4% increase

(c) 6.4% increase

(d) 3.4% decrease
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70. A number is decreased by 30%, then
increased by 30%, then further decreased
by 10%. What is the net increase/decrease
percent in the number (correct to the
nearest integer) ?

,d la[;k dks 30» de dj fn;k tkrk gS fiQj 30»
c<+k fn;k tkrk gS vkSj blds ckn iqu% 10» de dj
fn;k tkrk gSA la[;k esa 'kq¼ izfr'kr o`f¼@deh
(fudVre iw.kk±d rd lgh) Kkr djsaA

SSC CHSL 4 July 2019 (Evening)

(a) 18% increase (b) 19% decrease

(c) 19% increase (d) 18% decrease

71. The number first increased by 16% and
then increased by 14%. The number, so
obtained, is now decreased by 30%. What
is the net increase or decrease percent in
the net increase or decrease percent in the
original number (nearest to an integer) ?

,d la[;k igys 16» ls c<+k nh tkrh gS vkSj fiQj
14» c<+k nh tkrh gSA bl izdkj izkIr la[;k dks 30»
de dj fn;k tkrk gSA ewy la[;k esa 'kq¼ izfr'kr
o`f¼ ;k deh (fudVre iw.kk±d rd) Kkr djsaA

SSC CGL Tier II (11 September 2019)

(a) 6 % increase (b) 7 % decrease

(c) No decrease (d) 9 % decrease

72. The population of a city increased 30% in
the first year and decreased by 15% in the
next year. If the percent population is
11,050 then the population 2 years ago was :

,d 'kgj dh vkcknh igys lky 30» c<+h rFkk vxys
o"kZ 15» de gks x;hA ;fn orZeku vkcknh 11]050
gS] rks 2 o"kZ igys fdruh vkcknh Fkh\

SSC CGL 6 March 2020 (Morning)

(a) 10,000 (b) 10,050

(c) 99,000 (d) 99,500

73. The population of a town has increased by
5% at the end of the first year and
decreased by 4% at the end of second year.
If the population at the end of second year
was 55,12,248, then the population at the
begining of first year was :

,d 'kgj gh vkcknh igys o"kZ ds var esa 5» c<+h gS
vkSj nwljs o"kZ ds var esa 4» de gqbZA ;fn nwljs o"kZ
ds var esa tula[;k 55]12]248 Fkh] rks igys o"kZ dh
'kq:vkr esa tula[;k Fkh %

SSC CPO 14 March 2019 (Morning)

(a) 55,72,950

(b) 56,23,012

(c) 54,68,500

(d) 53,00,420

74. Salary of A increased by 8% in the year
2015 as compared to 2014 and decreased
by 6% in the year 2016 as compared to
2015. If his salary was ` 2,34,778 in 2016,
his salary (round off to nearest whole
number) in 2014 was:

A ds osru esa o"kZ 2014 esa eqdkcys o"kZ 2015 esa 8»
dh of¼ gqbZ vkSj 2015 esa eqdkcys o"kZ 2016 esa 6»
dh deh gqbZA ;fn o"kZ 2016 esa mldk osru #i;s 2]
34] 778 Fkk rks 2014 esas mldk osru (fudVre laiw.kZ
la[;k esa iw.kkZafdr) fdruk Fkk\

SSC CPO 15 March 2019 (Evening)

(a) ` 2,31,263 (b) ` 2,38,347

(c) ` 2,34,987 (d) ` 2,36,402

75. The price of an article increase by 20%
every year. If rthe difference between the
prices at the end of the third and fourth
years is ` 259.20, then 40% of the price
(in `) at the end of the second year is :

,d oLrq dh dher gj o"kZ 20» c<+ tkrh gSA ;fn
rhljs vkSj pkSFks o"kZ dh dherksa esa ` 259-20 dk varj
gS] rks nwljs o"kZ ds var esa bldh dher dk 40» gksxk
(` esa) %

SSC CHSL 3 July 2019 (Evening)

(a) 484 (b) 432

(c) 384 (d) 472

76. The price of a commodity increases 15%
every year. If the difference betwen its
prices at the end of third and fourth year
is 193.20, then which of the following was
90% of its price at the end of second year ?

fdlh oLrq dk ewY; izfr o"kZ 15» c<+ tkrk gSA ;fn
rhljs o"kZ vkSj pkSFks o"kZ ds var esa mlds ewY;ksa dk
varj 193-20 #i, gS rks nwljs o"kZ ds var esa mlds
ewY; dk 90» fuEu esa ls dkSu&lk Fkk\

SSC MTS 21 August 2019 (Evening)

(a) ` 1008 (b) ` 1120

(c) ` 1064 (d) ` 896

77. If the length of a rectangle is increased by
12% and the breadth is decreased by 8%,
the net effect on the area is :

;fn vk;r dh yackbZ 12» c<+ tkrh gS vkSj pkSM+kbZ
8» de gks tkrh gS] rks {ks=kiQy ij 'kq¼ izHkko bl
izdkj gS %

SSC CHSL 18/3/2020 (Morning)

(a) increase by 3.04%

(b) increase by 2.6%

(c) decrease by 3.04%

(d) decrease by 2.6%

https://t.me/mathsbyadityaranjan


[ 9 ]

M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

78. If the area of a square is decreased by 19%,
then the diagonal of the square is
decreased by :

;fn oxZ dk {ks=kiQy 19» de gks tkrk gS rks oxZ dk
fod.kZ fdruk de gks tkrk gS\

SSC CPO 2019 24/11/2020 (Morning)

(a) 15% (b) 10%

(c) 5% (d) 12%

79. If each edge of a cube is increased by 10%,
then the percentage increase in its surface
ares is :

;fn fdlh ?ku ds izR;sd fdukjs dks 10» c<+k fn;k
tkrk gS] rks blds i`"B {ks=kiQy esa fdrus izfr'kr dh
o`f¼ gksxh\

SSC CHSL 13/10/2020 (Afteroon)

(a) 21% (b) 19%

(c) 22% (d) 20%

80. The length and breadth of a cuboid are
increased by 10% and 20%, respectively,
and its height is decreased by 20%. The
percentage increase in the volume of the cuboid is

,d ?kukHk dh yackbZ vkSj pkSM+kbZ Øe'k% 10» vkSj
20» c<+ tkrh gS] vkSj bldh Å¡pkbZ 20» rd de gks
tkrh gSA ?kukHk ds vk;ru esa izfr'kr o`f¼ gS%

SSC CHSL 14/10/2020 (Morning)

(a) 5
4

5
% (b) 5

1

5
%

(c) 5
2

5
(d) 5

3

5
%

Type-VIII

81. Sonu saves 15% of her income. If her
income increases by 20% and she still
saves the same amount as before, then
what is the percentage increase in her
expenditure?

lksuw viuh vk; dk 15» Hkkx cpr djrh gSA ;fn
mldh vk; 20» c<+ tkrh gS rFkk rc Hkh og igys
ftruh cpr gh dj ikrh gS] rks mlds O;; esa fdrus
izfr'kr dh o`f¼ gqbZ gS\ (n'keyo ds ,d LFkku rd)

SSC CGL 4 March 2020 (Morning)

(a) 22.8 (b) 23.5

(c) 23.8 (d) 24.2

82. The income of A is 60% less than that of
B, and the expenditure of A is equal to 60%
of B's expenditure. If A's income is equal
to 70% of B's expenditure, then what is the
ratio of the savings of A and B?

A dh vk; B dh vk; ls 60» de gS rFkk A dk
O;; B ds O;; ds 60» ds cjkcj gSA ;fn A dh

vk; B ds O;; ds 70» ds cjkcj gS] rks A vkSj B

dh cpr dk vuqikr D;k gS\
SSC CGL 4 March 2020 (Afternoon)

(a) 3 : 8 (b) 5 : 9

(c) 4 : 7 (d) 2 : 15

83. The income of Raju is 20% more than his

expenditure. If his income increase by 60%

and his expenditure increase by 70%, then

by what percent does his savings increase

or decrease?

jktw dh vk; mlds O;; ls 20» vf/d gSA ;fn mldh
vk; 60» c<+ tkrh gS vkSj mlds O;; esa 70» dh
o`f¼ gks tkrh gS] rks mldh cpr esa fdrus izfr'kr dh
deh ;k o`f¼ gksxh\

SSC CGL 4 June 2019 (Afternoon)

(a) It deceases by 10%(b) It deceases by 2%

(c) It inceases by 10%(d) It inceases by 2%

84. A spends 65% of his income. His income

has increased by 20.1% and his

expenditure has increased by 25%. His

svings :

A viuh vk; dk 65» [kpZ djrk gSA mldh vk;
20-1» ls c<+ tkrh gS vkSj O;; esa 25» dh o`f¼ gks
tkrh gSA mldh cpr %

CGL Tier-II (12 September 2019)

(a) Increase by 11% (b) Inceases by 5%

(c) Deceases by 5% (d) Deceases by 11%

85. Rishu saves x% of her income. If her

income increases by 26% and the

expenditure increases by 20%, then her

savings increase by 50%. What is the value

of x?

fj'kq viuh vk; dk x% cpkrh gSA vxj mldh vk;
26» c<+ tkrh gS vkSj [kpZ 20» c<+ tkrk gS] rks
mldh cpr esa 50» dh òf¼ gksrh gSA x dk eku D;k gS\

CGL 2019 Tier-II (15/11/2020)

(a) 30 (b) 20

(c) 10 (d) 25

86. Renu saves 20% of her income. If her
expenditure increases by 20% and income
increases by 29%, then her saving
increased by :

js.kq viuh vk; dk 20» cPkkrh gSA vxj mldk [kpZ
20» c<+rk gS vkSj vk; esa 29» dh o`f¼ gks tkrh gS]
rks mldh cpr esa o`f¼ gksrh gS %

CGL 2019 Tier-II (16/11/2020)

(a) 60% (b) 65%

(c) 55% (d) 54%
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87. Monika spends 72% of her income. If her

income increases by 20% and savings

increase by 15% then her expenditure

increases by : (correct to 1 decimal place)

eksfudk viuh vk; dk 72» [kpZ djrh gSA ;fn mldh
vk; 20» c<+ tk, vkSj mldh cpr 15» c<+ tk,]
rks mlds O;; esa fdrus dh o`f¼ gksxh\ (,d n'keyo
LFkku rd lgh)

CGL Tier-II (13 September 2019)

(a) 20.8% (b) 20.2%

(c) 21.09% (d) 19.8%

88. Anu spends 90% of her income. If her

expenditure increases by 25% and savings

increases by 30%, then by what percent

does her salary increase?

vuq viuh vk; dk 90» Hkkx [kpZ djrh gSA ;fm mlk
O;; 25» ls vkSj mldh cpr 30» c<+ tkrh gS] rks
mlds osru esa fdrus izfr'kr dh of̀¼ gqbZ gS\

SSC CHSL 2 July 2019 (Evening)

(a) 25.5% (b) 24%

(c) 22.5% (d) 205

89. The sum of salaries of A and B is ` 43000.

A spends 95% of his salary and B sepnds

80% of his salary. If their savings are the

same, what is A's salary (in `) ?

A vkSj B ds osru dk ;ksx ` 43000 gSA A viuh
95» vk; vkSj B viuh 80» vk; [kpZ dj nsrk gSA
;fn mudh cpr leku gS] rks A dk osru Kkr djsaA

SSC CHSL 8 July 2019 (Morning)

(a) ` 10600 (b) ` 8000

(c) ` 35000 (d) ` 34400

90. The sum of income of A and B is ` 165000.

A spends 70% of his income and B sepnds

80% of his income. If the savings of A is

25% more than that of B, then find the

difference between their income?

A vkSj B dh vk; dk ;ksx ` 165000 gSA A viuh
vk; dk 70» vkSj B viuh vk; dk 80» [kpZ djrs
gSaA ;fn A dh cpr] B dh cpr dh rqyuk esa 25»
vf/d gS] rks mudh vk; esa fdruk varj gS\

SSC MTS 20 August 2019(Morning)

(a) ` 12000 (b) ` 18000

(c) ` 15000 (d) ` 10000

91. Anu spends 68% of her monthly income.

If her monthly income increase by 20% and

her monthly saving increase by 9
3

8
% the

n the percentage increase is her monthly

expenditure is:

vuq viuh ekfld vk; dk 68» [kpZ djrh gSA ;fn
mldh ekfld vk; 20» c<+ tkrh gS rFkk mldh ekfld

cpr 
3

9 %
8

 c<+ tkrh gS] rks mlds ekfld O;; esa

fdrus izfr'kr dh òf¼ gksxh\
SSC CGL 7 March 2020 (Afternoon)

(a) 20% (b) 25%

(c) 22% (d) 32%

92. A man spends 75% of his income. If his
income increases by 28% and his
expenditure increases by 20%, then what
is the increase or decrease percentage in
his saving?

,d vkneh viuh vk; dk 75» [kpZ djrk gSA ;fn
mldh vk; esa 28» dh o`f¼ gksrh gS vkSj mlds O;;
esa 20» dh o`f¼ gksrh gS] rks mldh cpr esa o`f¼ ;k
deh dk izfr'kr D;k gS\

SSC CPO 2019 , 24/11/2020 (Morning)

(a) 13% increase

(b) 52% decrease

(c) 52% increase

(d) 13% decrease

Type IX

93. A person spends 10% of his salary on food.
He spends 20% of the remaining amount
on fuel. If he has ` 4680 now, then what
is his salary?

,d O;fDr vius osru dk 10» Hkkstu ij [kpZ djrk
gSA og 'ks"k Hkkx dk 20» b±/u ij [kpZ djrk gSA ;fn
mlds ikl ` 4680 'ks"k gS] rks mldk osru fdruk gS\

SSC MTS 2 August 2019 (Afternoon)

(a) ` 6000

(b) ` 5000

(c) ` 6500

(d) ` 5500

94. A spends 24% of his monthly income on
household expenses, 16% on
entertainment, 12% on education and
saves the rest. If the savings are 3,288,
then what is the monthly income of A ?

A viuh ekfld vk; ls 24» ?kjsyw [kpZ ij] 16»
euksjatu ij] 12» f'k{kk ij O;; djrk gS vkSj ckdh
cpk ysrk gSA ;fn cpr ` 3]288 gS] rks A dh ekfld
vk; fdruh gksxh\

SSC CPO 14 March 2019 (Evening)

(a) ` 6,654

(b) ` 6,480

(c) ` 6,323

(d) ` 6,850
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95. In a school, 4% of the students did not
appear for the annual exams. 10% of the
students who appeared for the exams could
not pass the exam. Out of the remaining
students, 50% got distinction marks and
432 students passed the exam but could
not get distinction marks. The total
number of students in the school is :

,d fo|ky; esa 4» Nk=k okf"kZd ijh{kk esa 'kkfey ugha
gq,A ijh{kk esa 'kkfey gksus okys 10» Nk=k ijh{kk ikl
ugha dj ldsA 'ks"k Nk=kksa esa ls 50» dks fM¯LVD'ku
vad feys rFkk 432 Nk=k ijh{kk rks ikl dj x, ysfdu
mUgsa fM¯LVD'ku vad ugha feysA fo|ky; esa Nk=kksa dh
dqy la[;k fdruh gS\

SSC CGL 6 March 2020 (Afternoon)

(a) 960 (b) 1000

(c) 878 (d) 1200

96. Ravinder invests ` 3,750 which is equal to
15% of his monthly salary in a medical
insurance policy. Later he invests 25% and
8% of his monthly salary on a child
education policy, and mutual funds,
respectively. The total amount left with
him is:

jfoanj fpfdRlk chek ikWfylh esa ` 3]750 dk fuos'k
djrk gS tks mlds ekfld osru ds 15» ds cjkcj gSA
ckn esa og vius ekfld osru ds 25» vkSj 8» dks
Øe'k cky f'k{kk uhfr vkSj E;wpqvy iQaM esa fuos'k
djrk gSA mlds ikl cph gqbZ dqy jkf'k gS%

SSC CHSL 20/10/2020 (Afternoon)

(a) 15000 (b) 12000

(c) 8000 (d) 13000

97. The monthly salary of a person was
`50,000. He used to spend on family
expenses(E), Taxes(T), charity(C), and the
rest were his savings, E was 60% of the
income, T was 20% of E, and C was 15%
of T. When his salary got raised by 40%,
he maintained the percentage level of E,
but T becomes 30% of E, and C becomes
20% of T. The difference between two
savings (in Rs) is:

,d O;fÙkQ dk ekfld osru #i;s 50]000 FkkA og
ifjokj ds •pZ (E)] dj (T)] nku (C) ij •pZ djrk
Fkk vkSj ckdh mldh cpr FkhA E vk; dk 60» Fkk] T,

E dk 20» Fkk] vkSj  C, T dk 15» FkkA tc mldk osru
40» c<+k] rks mlus  E dk çfr'kr Lrj cuk, j•k]
ysfdu  T, E dk 30» gks x;k] vkSj C, T dk 20» gks
x;kA nksuksa cpr ds chp dk varj (# esa) gS%

CPO 2019 24/11/2020 (Evening)

(a) 128 (b) 130

(c) 250 (d) 220

98. The monthly salary of a person was `
75,000. He used to spend on family
expenses(E), Taxes(T), charity(C), and the
rest were his savings, E was 60% of the
income, T was 20% of E, and C was 15%
of T. When his salary got raised by 40%,
he maintained the percentage level of E,
but T becomes 30% of E, and C becomes
20% of T. The ratio of the saving of earlier
to that of his present salary is :

,d O;fÙkQ dk ekfld osru ` 75]000 FkkA og ifjokj
ds •pZ (E)] dj (T)] nku (C) ij •pZ djrk Fkk vkSj
ckdh mldh cpr FkhA E vk; dk 60» Fkk] T, E dk
20» Fkk] vkSj  C, T dk 15» FkkA A tc mldk osru
40» c<+k] rks mlus E dk çfr'kr Lrj cuk, j•k] ysfdu
T, E dk 30» gks x;k] vkSj  C, T dk 20» gks x;kA
mlds izkjafHkd vkSj orZeku cpr dk vuqikr gS%

CPO 2019 24/11/2020 (Morning)

(a) 337 : 325 (b) 655 : 644

(c) 644 : 655 (d) 325 : 337

99. Ramesh spends 40% of his monthly salary
on food, 18% on house rent, 12% on
entertainment, and 5% on conveyance. But
due to a family function he has to borrow
` 16,000 from a money lender to meet the
expense of 20,000. His monthly salary (in `)

jes'k vius ekfld osru dk 40» Hkkstu ij] 18» ?kj
ds fdjk;s ij] 12» euksjatu ij vkSj 5» okbu ij
[kpZ djrk gSA ysfdu ,d ikfjokfjd lekjksg ds dkj.k
mls ` 20]000 ds [kpZ dks iwjk djus ds fy, ,d
Í.knkrk ls 16]000 #i;s m/kj  ysus iM+sA mldk ekfld
osru (` esa) D;k gS\

CPO 2019 25/11/2020 (Evening)

(a) 15,000 (b) 18,000

(c) 16,500 (d) 16,000

100. Sudha decided to donate 12% of her
monthly income to an orphanage. On the
day of donation, she changed her decision
and donated a sum of ` 4800 which was
equal to 80% of what she had decided
earlier. What is 27% of her monthly
income?

lq/k us viuh ekfld vk; dk 12» ,d vukFkky; esa
nku nsus dk fu.kZ; fy;kA nku nsus ds fnu] mlus viuk
fu.kZ; cny fy;k vkSj ` 4800 #i;s nku fn, tks
mls }kjk iwoZ esa lksph x;h jkf'k dk 80» FkkA mldh
ekfld vk; dk 27» Kkr djsaA

SSC CHSL 04/07/2019 (Morning)

(a) ` 13959 (b) ` 11934

(c) ` 14040 (d) ` 13500
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101. In a constituency, 55% of the total number
of voters are males and the rest are
females. If 40% of the males are illiterate
and 40% of the females are literate, then
by what percent is the number of literate
males more than that of illiterate females?

,d fuokZpu {ks=k esa dqy ernkrkvksa esa ls 55» iq#"k gSa
rFkk 'ks"k efgyk,¡ gSaA ;fn 40» iq#"k vf'kf{kr gSa rFkk
40» efgyk,¡ f'kf{kr gSa] rks f'kf{kr iq#"kksa dh la[;k
vf'kf{kr efgykvksa dh la[;k ls fdruk izfr'kr vf/
d gS\

CGL 2019 Tier-II (16/11/2020)

(a)
8

22 %
11

(b)
2

18 %
9

(c)
2

22 %
9

(d)
2

18 %
11

102. In a constituency, 40% of the Voters are

senior citizens. 40% of the senior citizen
voters are illiterates and 25% of the non-
senior citizen voters are literates. By what

percentage is the number of literate senior
citizens voters less than that of illiterate
non-senior citizen voters?

,d fuokZpu {ks=k esa] 40» ernkrk ofj"B ukxfjd gSaA
40» ofj"B ukxfjd ernkrk vf'kf{kr gSa rFkk 25»
xSj&ofj"B ukxfjd ernkrk f'kf{kr gSaA fuj{kj xSj&ofj"B
ukxfjd ernkrkvksa dh rqyuk esa lk{kj ofj"B ofj"B
ernkrkvksa dh la[;k fdrus çfr'kr de gS\

SSC CHSL 2 July 2019 (Afternoon)

(a) 40 (b) 48
1

3

(c) 50 (d) 46
2

3

103. Two third of the number of employees of
a company are males and the rest are

females. If 
3

8
 of the male employees and

2

5
 of the female employees are temporary

employees and the total number of

permanent employees is 740, then 
7

15
 of

the total number of employees exceeds the
number of temporary female empoyees by
:

,d daiuh ds nks&frgkbZ deZpkjh iq#"k gSa rFkk 'ks"k

efgyk,¡ gSaA ;fn iq#"k deZpkfj;ksa esa ls 
3

8
 vkSj efgyk

deZpkfj;ksa esa ls 
2

5
 deZpkjh vLFkk;h deZpkjh gS vkSj

LFkk;h deZpkfj;ksa dh dqy la[;k 740 gS] rks deZpkfj;ksa

dh dqy la[;k dk 
7

15
 vLFkk;h efgyk deZpkfj;ksa dh

la[;k ls fdruk vfèkd gS\
CGL 2019 Tier-II (16/11/2020)

(a) 400 (b) 340

(c) 308 (d) 320

104. In a classes 
1

83 %
3

 of the number of

students are girls and the rest are boys. If
60% of the number of boys and 80% of the
number of girls are present, then what
percent of the total number of students in
the class is absent?

,d d{kk esa Nk=kksa dh dqy la[;k esa ls 
1

83 %
3

yM+fd;k¡ gSa rFkk 'ks"k yM+ds gSaA ;fn 60» yM+ds vkSj
80» yM+fd;k¡ mifLFkr gS] rks d{kk esa dqy Nk=kksa dk
fdruk izfr'kr vuqifLFkr gS\

CGL Tier-II (12 September 2029)

(a)
2

26 %
3

(b)
2

26 %
3

(c)
1

23 %
3

(d)
1

12 %
3

105. A, B and C donate 8%, 7% and 9%, of their
salaries respectively to a charitable trust.
The salaries of A and B are the same and
the difference between their donations is
` 259. The total donation of A and B is `
1,185 more than that of C. The total
donation of A and C is what percentage of
the total salaries of A, B and C? (Correct
to one decimal place)

A, B rFkk C vius osru dk Øe'k% 8»] 7» rFkk 9»
Hkkx ,d iq.;kFkZ VªLV esa nku dj nsrs gSaA A vkSj B ds
osru leku gSa rFkk muds nku esa ` 259 dk varj gSA A
vkSj B dk dqy nku C ds nku ls 1]185 #i;s vf/d gSA
A vkSj C dk dqy nku A] B rFkk C ds dqy osru dk
fdruk çfr'kr gS\

SSC CGL 4 March 2020 (Evening)

(a) 6.2% (b) 5.8%

(c) 6.4% (d) 7.1%

106. The monthly salaries of A and B are the
same. A, B and C donate 10%, 8% and 9%
respectively, of their monthly salaries to
a charitable trust. The difference between
the donation of A and B is 400. The total
donation of A and B is 900 more than that
of C. What is the monthly salary of C?
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A vkSj B dk ekfld osru leku gSA A, B vkSj C
vius ekfld osru dk 10»] 8» vkj 9»] ,d /ekZFkZ
VªLV dks nku djrs gSaA A vkSj B ds nku ds chp dk
varj 400 gSA  A vkSj B dk dqy nku C dh rqyuk esa
900 vf/d gSA C dk ekfld osru D;k gS\

SSC  CGL 2019 Tier-II (16/11/2020)

(a) ` 25,000 (b) ` 36,000

(c) ` 30,000 (d) ` 27,000

107. A certain number of students from school
X appeared in an examination and 30%
students failed. 150% more students than
those from school X, appeared in the same
examination from school Y. If 80% of the
total number of students who appeared
from X and Y passed, then what is the
percentage of students who failed from Y?

,d ijh{kk esa Ldwy X ds dqN Nk=k mifLFkr gq, vkSj 30»
Nk=k iQsy gks x,A Ldwy X ds Nk=kksa dh rqyuk esa 150»
vf/d Nk=k] Ldwy Y ls mlh ijh{kk esa mifLFkr gq,A ;fn
X vkSj Y ls mifLFkr gksus okys Nk=kksa dh dqy la[;k dk
80» mÙkh.kZ gks x;k] rks Y ls iQsy gq, Nk=kksa dk çfr'kr
D;k gS\

SSC  CGL 2019 Tier-II (15/11/2020)

(a) 18 (b) 20

(c) 16 (d) 24

Type-X

108. In an examination, Shreya scored 84 out
of 90 in Mathemeatics, 45 out of 50 in
Science, 23 out of 25 in Computer Science
and 68 out of 80 in English. In which
subject didi Shreya score the highest
percentage?

,d ijh{kk esa Js;k dks xf.kr esa 90 esa ls 84 vad]
foKku esa 50 esa ls 45 vad] dEI;wVj foKku esa 25 esa
ls 23 vad rFkk vaxzsth esa 80 esa ls 68 vad feysA
fdl fo"k; esa Js;k dk vad izfr'kr lokZf/d gS\

SSC CPO 16 March 2019 (Afternoon)

(a) Mathematics (b) English

(c) Science (d) Computer Science

109. An examination was held on five subjects
where the maximum marks for each
subject was 100. X scored 82, 97, 88 and
91 marks in four subjects. If his total
marks were 90%, then find his marks in
the fifth subjects.

ik¡p fo"k;ksa ij ,d ijh{kk vk;ksftr dh xbZ tgk¡ izR;sd
fo"k; ds fy, vf/dre vad 100 FksA X us 4 fo"k;ksa
esa Øe'k% 82] 97] 88 vkSj 91 vad izkir fd,A ;fn
mlds dqy vad 90» Fks] rks ik¡posa fo"k; esa mlus
fdrus vad izkIr fd,\

SSC MTS 16 August 2019 (Evening)

(a) 92 (b) 94

(c) 89 (d) 79

110. A student scored 32% marks and failed by
6 marks. If he had scored 36% then he
would have passed by 2 marks. What is the
passing marks?

,d Nk=k us 32» vad izkIr fd, vkSj 6 vadksa ls isQy
gks x;kA ;fn mlus 36» vad izkIr fd, gksrs rks og 2
vadksa ls mÙkh.kZ gks x;k gksrkA mÙkh.kZ vad (Ldksj)
fdruk gS\

SSC MTS 16 August 2019 (Afternoon)

(a) 66 (b) 75

(c) 80 (d) 70

111. In an examination, Anita scored 31%
marks and failed by 16 marks. Sunita
scored 40% marks and opbtained 56 marks
more than those required to pass. Find the
minimum marks required to pass.

,d ijh{kk esa] vuhrk dks 31» vad feys rFkk og 16
vadksa ls isQy gks xbZA lquhrk dks 40» vad feys rFkk
mlds vad mÙkh.kZ gksus ds fy, vko';d vad ls 56
vfèkd FksA mÙkh.kZ gksus ds fy, U;wure fdrus vadksa dh
vko';drk gS\

SSC CGL 7 March 2020 (Morning)

(a) 3116 (b) 3944

(c) 7100 (d) 264

112. Ravi score 72% marks in examination. If
these are 360 makrks, then the maximum
marks are :

jfo dks ijh{kk esa 72» vad vk,A ;fn ;s 360 vad gSa
rks vf/dre vad fdrus gSa\

SSC CGL 9 March 2020 (Morning)

(a) 500 (b) 350

(c) 450 (d) 400

113. In an examination, 40% of the students
who appeared were boys and rest were
girls. The pass percentage of the boys was
60% and overall pass percentage was 56%.
What was the pass percentage of the girls?

,d ijh{kk esa 'kkfey gksus okys 10» Nk=k yM+ds Fks
rFkk 'ks"k yM+fd;k¡ FkhA yM+dksa dk mÙkh.kZrk izfr'kr
40» Fkk vkSj dqy mÙkh.kZrk izfr'kr 56» FkkA yM+fd;ksa
dk mÙkh.kZrk izfr'kr Kkr djsaA

SSC MTS 22 August 2019 (Morning)

(a)
2

54
3

(b)
1

54
3

(c)
2

52
3

(d)
1

53
3
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114. In an examination in which the full marks
were 500, A scored 25% more marks than
B. B scored 60% more marks than C and
C scored 20% less marks than D. If A
scored 80% marks, then the percentage of
marks obtained by D is:

,d ijh{kk ftlesa iw.kkZad 500 gS] mlesa A dks B ls
25» vf/d vad vk, gSaA B dks C ls 60» vf/d vad
feys gSa rFkk C dks D ls 20» de vad feys gSaA ;fn A
dks 80» vad çkIr gq, gSa] rks D ds }kjk çkIr vad dk
çfr'kr Kkr dhft,

SSC CGL 5 March 2020 (Morning)

(a) 60% (b) 54%

(c) 65% (d) 50%

115. In an entrance examination at different
centers, a total of 25, 30, 40, 45, 60 and
100 students appeared. The pass
percentage of the different centers are
20%, 30% 35% 40% 50% and 75%
respectively. The pass percentage of the
entrance examination is (correct to the
nearest integer)

fofHkUUk dsanzksa ij izos'k ijh{kk esa dqy 25] 30] 40]
45] 60 vkSj 100 Nk=k mifLFkr gq,A fofHkUu dsanzksa dk
mÙkh.kZrk izfr'kr Øe'k% 20»] 30»] 35»] 40»] 50»
vkSj 75» gSA izos'k ijh{kk dk mÙkh.kZrk izfr'kr D;k gS
Kkr djs% (fudVre iw.kkZad rd)

SSC CPO 2019 25/11/2020 (Evening)

(a) 43% (b) 59%

(c) 53% (d) 50%

Type-XI

116. In an examination, 47% passed in science
and 51% failed in mathematics. If 42%
failed in both subjects, what percentage
passed in both subjects?

,d ijh{kk esa foKku esa 47» liQy jgs rFkk xf.kr esa
51» vliQy gks x,A ;fn 42» nksuksa fo"k;ksa esa vliQy
jgs] rks nksuksa fo"k;ksa esa fdrus izfr'kr liQy jgs\

SSC CPO 13 March 2019 (Evening)

(a) 38% (b) 42%

(c) 40% (d) 36%

117. In an examination, 53% of the candidates
failed in Science and 48% failed in
mathematics. If 40% failed in both
subjects, what percentage passed in both
subject?

,d ijh{kk esa 53» Nk=k foKku esa vuqÙkh.kZ gq, rFkk
48» xf.kr esa vuqÙkh.kZ jg x,A ;fn 40» nksuksa fo"k;ksa
esa vuqÙkh.kZ jgs] rks nksuksa fo"k;ksa esa fdrus izfr'kr mÙkh.kZ
gq,\

SSC CPO 13 March 2019 (Morning)

(a) 51% (b) 39%

(c) 49% (d) 43%

118. An alloy contains 32% copper, 24% nickel
and rest zinc. How much zinc is present
in 12kg of the alloy?

,d feJ/krq esa 32» rkack] 24» fudsy vkSj 'ks"k tLrk
gSA 12 fdyksxzke feJ/krq esa fdruk tLrk ekStwn gksxk\

SSC CPO 13 March 2019 (Morning)

(a) 5.28 kg (b) 6.72 kg

(c) 528 gm (d) 672 gm

119. In an election, candidate X got 70% of the
overall valid votes. If 20% of the overall
votes were declared invalid and the total
number of votes is 64000, then find the
number of valid votes polled in favour of
the candidate.

,d pquko esa] mEehnokj ,Dl dks dqy oS/ erksa dk
70» dk feykA ;fn dqy erksa esa ls 20» dks voS/
?kksf"kr fd;k x;k vkSj dqy erksa dh la[;k 640000 gS]
rks mEehnokj ds i{k esa ernku ds oS/ erksa dh la[;k
Kkr dhft,A

SSC CHSL 18/03/2020 (Evening)

(a) 35840 (b) 45000

(c) 40000 (d) 35800

120. A marketing agent earns a commission of
2% on first ` 2,00,000, 1.5% on next `
20,00,000 and 1% on the remaining
amount of sales made in a month. If the
sales achieved by the agent for the month
of April 2018 are ` 5,68,000. The
commission earned is:

fdlh foi.ku ,tsaV dks ,d ekg esa igys ` 2]00]000
dh fcØh ij 2»] vxys ` 2]00]000 dh fcØh ij 1-
5» rFkk fcØh dh 'ks"k jkf'k ij 1» deh'ku feyrk
gSA ;fn vizSy 2018 ekg eas ml ,tsaV us ` 5]68]000
dh fcØh dh gS] rks mlds }kjk izkIr deh'ku Kkr djsaA

SSC CPO 15 March 2019 (Morning)

(a) ` 8680 (b) ` 7730

(c) ` 8240 (d) ` 7105

121. The ratio of the number of rural and urban
workers (includes men and women only) in
an office is 3 : 2. If 20% of rural and 25%
of urban are women, the percentage of men
is :

fdlh dk;kZy; esa xzkeh.k vkSj 'kgjh deZpkfj;ksa (dsoy
iq#"k vkSj efgyk 'kkfey) dh la[;k dk vuqikr 3 % 2
gSA ;fn 20» xzkeh.k rFkk 25» 'kgjh deZpkjh efgyk,¡
gSa] rks iq#"kksa dk izfr'kr Kkr djsaA

SSC MTS 9 August 2019 (Morning)

(a) 67.50% (b) 82.50%

(c) 78% (d) 58%
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Answer Key

1.(b) 2.(c) 3.(a) 4.(b) 5.(c) 6.(a) 7.(a) 8.(d) 9.(a) 10.(b)

11.(b) 12.(b) 13.(a) 14.(a) 15.(a) 16.(d) 17.(b) 18.(c) 19.(d) 20.(a)

21.(d) 22.(a) 23.(d) 24.(b) 25.(c) 26.(d) 27.(c) 28.(a) 29.(c) 30.(c)

31.(c) 32.(b) 33.(d) 34.(c) 35.(a) 36.(d) 37.(a) 38.(c) 39.(a) 40.(a)

41.(a) 42.(c) 43.(c) 44.(b) 45.(a) 46.(b) 47.(b) 48.(d) 49.(d) 50.(b)

51.(c) 52.(c) 53.(a) 54.(a) 55.(c) 56.(c) 57.(c) 58.(b) 59.(b) 60.(b)

61.(a) 62.(b) 63.(c) 64.(b) 65.(c) 66.(d) 67.(d) 68.(c) 69.(d) 70.(d)

71.(b) 72.(a) 73.(c) 74.(a) 75.(b) 76.(a) 77.(a) 78.(b) 79.(a) 80.(d)

81.(b) 82.(d) 83.(c) 84.(a) 85.(b) 86.(b) 87.(c) 88.(a) 89.(d) 90.(c)

91.(b) 92.(c) 93.(c) 94.(d) 95.(b) 96.(d) 97.(d) 98.(b) 99.(d) 100.(d)

101.(c) 102.(d) 103.(a) 104.(c) 105.(b) 106.(c) 107.(c) 108.(a) 109.(a) 110.(d)

111.(d) 112.(a) 113.(d) 114.(d) 115.(d) 116.(a) 117.(b) 118.(a) 119.(a) 120.(a)

121.(c) 122.(a) 123.(d) 124.(a)

122. A man's annual income has increased by
`20 lakhs but the tax on income that he
has to pay has reduced from 20% to 16%.
He now pays the same amount of tax as
earlier. What is his new total income  (in `
lakhs)?

veu dh okf"kZd vk; 20 yk[k #i;s ls c<+ x;h gS
ysfdu vk; ij mlds }kjk fn;k tkus okyk dj 20»
ls de gks dj 16» gks x;k gSA og vHkh Hkh igys
ftruh jkf'k gh dj nsrk gSA u;h dqy vk; (yk[k
#i;s esa) Kkr djsaA

SSC MTS 9 August 2019 (Morning)

(a) 100 (b) 120

(c) 80 (d) 60

123. With reference to a number greater than
one, the difference between itself and its
reciprocal is 25% of the sum of itself and
its reciprocal. By how much percentage
(correct one decimal place) is the fourth
power of the number greater than its
square?

,d ls cM+h fdlh la[;k ds lanHkZ esa] blds (la[;k)
rFkk blds O;qRØe ds chp dk varj blds rFkk blds
O;qRØe ds ;ksx dk 25» gSA la[;k dk pkSFkk ?kkr (fourth

power) blds oxZ ls fdruk çfr'kr (n'keyo ds
,d LFkku rd) vf/d gS\

SSC CHSL 11 July 2019 (Morning)

(a) 57.8 (b) 62.5

(c) 64.5 (d) 66.7

124. A crate of fruits contains one spoiled fruit
for every 25 fruits. 60% of the spoiled
fruits were sold. If the seller has sold 48
spoiled fruits, then the number of fruits in
the crate were :

iQyksa ds ,d Vksdjs esa gj 25 iQyksa ij ,d [kjkc
iQy gSA [kjkc gks pqds iQyksa ds 60» dh fcØh gks xbZA
;fn foØsrk us 48 [kjkc iQyksa dh fcØh dh Fkh] rks
Vksdjs esa iQyksa dh la[;k Fkh %

CHSL 14/10/2020 (Afternoon)

(a) 2000 (b) 2400

(c) 3000 (d) 1200
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